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(e 0L 5 amd s DS (S 5me 53 |y (35508 @ b Jool il 5 e
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Ao 5o B
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il o 16 4 csls B 15 A 5l Ll plad Sl g il s 24 =16 51 le B
B=1{2,4,6} 5150 10 & sl A ol slaw SA={13,5,..19} 312 Jto
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AxB={(,a),(1,b),(2,a),(2,b),(3,a),(3,b)} =

Sl Esle OT daly aw oS
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Dom, ={L,2} s Range, ={x,y}
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Dom, ={-3,-2,2,3} X
Range, ={-3,-2,2,3} 5
4H123)
(-2,3). 3 L]
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Loly o sSas (il _anb slael s daly <SCR ={(1,2)(2,3)3,4)} 31 : o
LS asial, RT LR



J=

“

={(2,1)(3,2)(4.3)}

Jsles &y A Cow j3 1, R &af, ((Equivalent Relation) ol al
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o= 15 oT (Range) wial b slisl el 0T (Domain) Ca 25 4G il
LS



daidee 1)@ &S 558 n odual L3 0 5y 03 3,15 Coadl 2i g s 5 0T j3 aS2(a,b) e
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A3 1LY 5 X slacwd wsb (x-2y,2x +y)=(31) $1-3

Al Dlgls Loty R &S 55T Gz s 550 A=1{1,3,5} 51, R i, -4
Ao g 1y A% ole asl A={a,b} $1-5

Ol & Al odd (i i el G y3 R= {(X,y)|y=X2} b, 51-6
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A lad o 5 1 R
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Aol B s A4

Sl il g5l oo b (5,3a—4b) s(4a+12b+a) s pesy o 55 S1-11
Aubysiybsa
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S ks ) 5 sladis b psgie Sl
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Aib e A =X 5l Soke 35l Laje m e ol
erde x|l 234 5
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tle pb C Al Ve g P st (A) Sl &8 558 0 odaliie G sladlin )
dde Jgote |y oz 5 s (Comben 5 il 0 (1) 657 plady (D) 55 XD 0
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HEby S oole ol (Euler) (1783 -1707) J 51 (ows 3o Ol 5b 5 Sbod sl (51
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B (R e S5 b e b L d S beS OT 3
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